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Name ___________________Year 4 Week 13 – Homework

	 236  →  × 2     →  × 2  

	 58  →  × 2     →  × 2  

	 314  →  × 2     →  × 2  

	 816  →  ÷ 2     →  ÷ 2  

	 336  →  ÷ 2     →  ÷ 2  

	 64  →  × 10     →  ÷ 2  

	 58  →  × 10     →  ÷ 2  

	 78  →  × 10     →  ÷ 2  

Use your answers above to help you complete these multiplications.

38 × 4 =  348 ÷ 4 =  

296 ÷ 4 =  

9 11

10 1246 × 5 =  
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Machine calculations
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I found this:

Easy Challenging I needed help
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Name ___________________Year 4 Week 13 – Homework

	 �A fraction has a denominator of 
48. It is equivalent to ₅⁸. What is 
the numerator?

19

Numerator challenge!

numerator → 1
denominator → 2

Fractions of amounts

	 ₁
⁴ of 72 = 

	 ₅
⁶ of 66 = 

	 ₃
⁴ of 72 = 

	 ₁
⁵ of 200 = 

	 ₁
⁶ of 66 = 

	 ₃
⁵ of 200 = 
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